SERPAC 1152HL

Electronic Enclosures

9.71
OVERALL WIDTH
A 81 INSIDE | 4.00 INSIDE
— TOP HEIGHT BOTTOM HEIGHT
7 N j :
(7 N I j i
C =4
@ aa I { ||
B 8.23
OVERALL
LENGTH
6.26 MAXIMUM 5.98 MINIMUM
- - - - [~ 4.25 INSIDE WIDTH ] - - INSIDE LENGTH
B ! BOSSES
L ! |
1 g
- - __q}_ - - - - ___l <4} — | @
QO - vy | { = !
He——- &0 Y
SECTION A-A
A <=
6.25 BOSSES
I1152HL with bottom rotating feet
(4 included)
7
-
8.16 MAXIMUM
INSIDE WIDTH
! 1
Hinges for pn 71020
hinged aluminum panel
‘Igm I ' (2 included
5.13
5.46
CASE | OVERALL
HEIGHT HEIGHT
| + -Material: UV s’roklailized Pgllycorbggwo’g
Flommability UL 94 V-
! E FLU [ [ J -Watertight enclosure meets or
7 | 1 exceed Nema 4 and or IPé7.
PARTS INCLUDED
'4HLE|BG?_|STS P/N Qty. Description
INSIDE WIDTH 150 HLB ] 150 HL Bottom
8150 1 150 O-Ring
Aluminum panels for bottom, 1305 | 2 350 Flange
SEcTioN B-B hinge, and top are not included. }ggg ? =55 P35O T?ﬁ* -
They are available as options: 200 ] =5 Pgrr‘]‘; H'irr‘]gz A
Bottom panel p/n 71000
P b/ 6028 4 SS #10 X 5/8"Pan H/L

Hinged panel p/n 71020

Open 1152HL with bottom flanges

Top panel p/n 71040 (2 included)

See pages 3-5 for panel dimensions and panel
hardware. See page 2 for flange dimensions

7/19/17

2009 Wright Ave. La Verne, CA 921750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 1152 Flange Dimensions

Electronic Enclosures

1152HL CASE SHOWN BELOW.,
FLANGE IS FOR BOTH I1152HL AND [152HS

7.80 |
33 FLANGE WIDTH 4X & 29

20 /" (FOR 1/4" SCREW)

V= ~ H—— = A——]
off— | ) /”@:ﬁ BB =D ¢ (0}
‘ )

\q L 1.75 _
| FLANGE [j I
?_ v J }\“ P

|

/
|

._

= —— ==

LT =7 L=

A

 31SLOT

= 1.26— = 1.51— WIDTH

6.00

7/19/17

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100B Bottom Panel Kit for
SERPAC I152HL and I152HS

6.87

o =

7

— 4X .20 THRU B

. J L
6.25
PARTS INCLUDED
P/N Qty. Description
71000 1 Bottom Aluminum Panel
6029 4 #10 X 3/8" Pan Head Screw, 18-8 SS

1/6/17

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100TH Hinged Panel Kit for
SERPAC I152HL and I152HS

6.18 06
-— 1.36 '
? ' | —R .13 i
79 4X @ .20 THRU
| ) ;
) r\/
N L
2.12
|
6.20 x 4.95
2.83
N M |
N 2
—R .38
/.56
3.10 - PARTS INCLUDED
P/N Qty. Description
71020 1 Hinged Top Aluminum Panel
6029 2 #10 X 3/8" Pan Head Screw, 18-8 SS
6030 2 #10 X 3/8" Pan Combo Screw, 18-8 SS
6105 2 #10-32 X1/8" Nut, 18-8 SS

7/19/17

2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




7100T Top Panel Kit for
SEREIPEAC I152HL and I1152HS

3.10 —=~.06

c + B

4X @ .20 THRU
/.56
PARTS INCLUDED
P/N Qty. Description
71040 1 Main Top Aluminum Panel
6029 4 SS #10 X 3/8" Pan HL Screw

1/6/17

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




	I152HL
	Drawing View2
	Drawing View3
	Drawing View5
	Section View B-B
	Section View A-A

	FLANGE
	Drawing View10
	Drawing View11

	71000B
	Drawing View12
	Drawing View13

	7100TH
	Drawing View14
	Drawing View15

	7100T
	Drawing View8
	Drawing View9


